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Ejercicio 2 

Parte A 

• Reacciones en apoyo: 

∑ 𝐹𝐻 = 0 ⟹  𝐻𝐹 = 100𝑘𝑁 ←  

∑ 𝑀𝐹 = 0 ⇒ 8𝑚 × 𝑉𝐴 + 2𝑚 × 100𝑘𝑁 = (4𝑚 + 2𝑚) × 100𝑘𝑁 +  8𝑚 × 50𝑘𝑁 ⇒  𝑉𝐴 = 100𝑘𝑁 ↑  

∑ 𝐹𝑉 = 0 ⟹  𝑉𝐹 = 250𝑘𝑁 − 𝑉𝐴  ⇒ 𝑉𝐹 = 150𝑘𝑁 ↑  

 

• Por condiciones geométricas 

𝑁𝐷𝐻 = 0𝑘𝑁  

𝑁𝐴𝐵 = −𝑉𝐴 =  −100𝑘𝑁  

 

• Nodo F 

∑ 𝐹𝑉 = 0 ⟹ 𝑉𝐹 +
√2

2
𝑁𝐹𝐼 = 0 ⇒ 𝑁𝐹𝐼 =  −212𝑘𝑁  

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐸𝐹 + 100𝑘𝑁 +
√2

2
𝑁𝐹𝐼 = 0 ⇒ 𝑁𝐸𝐹 = 50𝑘𝑁  

 

• Nodo I 

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐻𝐼 =
√2

2
𝑁𝐹𝐼 = −150𝑘𝑁  

∑ 𝐹𝑉 = 0 ⟹ 100𝑘𝑁 + 𝑁𝐸𝐼 +
√2

2
𝑁𝐹𝐼 = 0 ⇒ 𝑁𝐸𝐼 = 50𝑘𝑁  

 

• Nodo E 

∑ 𝐹𝑉 = 0 ⟹ 𝑁𝐸𝐼 +
√2

2
𝑁𝐸𝐻 = 0 ⇒ 𝑁𝐸𝐻 = −71𝑘𝑁  

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐸𝐹 = 𝑁𝐷𝐸 +
√2

2
𝑁𝐸𝐻  ⇒ 𝑁𝐷𝐸 = 100𝑘𝑁  

 

• Nodo D 

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐶𝐷 = 𝑁𝐷𝐸 = 100𝑘𝑁  

 



• Nodo H 

∑ 𝐹𝑉 = 0 ⟹ 100𝑘𝑁 +
√2

2
𝑁𝐸𝐻 +

√2

2
𝑁𝐶𝐻 = 0 ⇒ 𝑁𝐶𝐻 = −71𝑘𝑁  

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐻𝐼 +
√2

2
𝑁𝐸𝐻 = 𝑁𝐺𝐻 +

√2

2
𝑁𝐶𝐻  ⇒ 𝑁𝐺𝐻 =  −150𝑘𝑁  

 

• Nodo G 

∑ 𝐹𝐻 = 0 ⟹  100𝑘𝑁 + 𝑁𝐺𝐻 =
√2

2
𝑁𝐵𝐺  ⇒ 𝑁𝐵𝐺 = −71𝑘𝑁  

∑ 𝐹𝑉 = 0 ⟹
√2

2
𝑁𝐵𝐺 + 𝑁𝐶𝐺 = 0 ⇒ 𝑁𝐶𝐺 = 50𝑘𝑁  

 

• Nodo C 

∑ 𝐹𝐻 = 0 ⟹ 𝑁𝐶𝐷 +
√2

2
𝑁𝐶𝐻 = 𝑁𝐵𝐶  ⇒ 𝑁𝐵𝐶 =  50𝑘𝑁  

 

Parte B 

𝑁𝐴𝐵 = −100𝑘𝑁  

𝜎𝑎𝑑𝑚 = 20𝑀𝑃𝑎; 𝐸 = 11𝐺𝑃𝑎; 𝑢𝑎𝑑𝑚 = 1,5𝑚𝑚 

𝜎𝑚𝑎𝑥 =
100𝑘𝑁

Ω
 ; 𝜎𝑚𝑖𝑛 =

100𝑘𝑁

2Ω
   ⇒ 𝑙𝑚𝑖𝑛 = 8𝑐𝑚 

𝜀𝑚𝑎𝑥 =
100𝑘𝑁

Ω×11𝐺𝑃𝑎
; 𝜀𝑚𝑖𝑛 =

100𝑘𝑁

2𝐴×11𝐺𝑃𝑎
 

𝑢 = ∫
𝑁

𝐸(Ω+
Ωz

𝑙
)

𝑑𝑧
𝑙

0
=

𝑁𝑙

𝐸Ω
 ∫

1

(1+Z)
𝑑𝑧

1

0
=

𝑁𝑙

𝐸Ω
ln(1 + 𝑧)|0

1 =  
𝑁𝑙

𝐸Ω
ln (2) ⇒ 𝑙𝑚𝑖𝑛 = 10𝑐𝑚 

Entonces 𝑙 = 10𝑐𝑚 

 

𝜎𝑚𝑎𝑥 = 10𝑀𝑃𝑎; 𝜎𝑚𝑖𝑛 = 5𝑀𝑃𝑎; 𝜀𝑚𝑎𝑥 = 0,91 × 10−3; 𝜀𝑚𝑎𝑥 = 0,45 × 10−3; 𝑢 = 1,26𝑚𝑚 

 



Parte C 

 

Parte D 

Compresión máxima: 212 𝑘𝑁 

Área necesaria: 
𝑁

𝜎𝑎𝑑𝑚
= 17,68 𝑐𝑚2 

𝐴 = 𝑟2𝜋 − (𝑟 − 𝑒)2𝜋 ⇒ 𝑟𝑚𝑖𝑛 = 6 𝑐𝑚 (𝐴 = 18,06 𝑐𝑚2) ; 𝑒 = 0,5 𝑐𝑚 

Parte E 

Tracción máxima: 100 𝑘𝑁 

Área necesaria: 
𝑁

𝜎𝑎𝑑𝑚
= 7,14 𝑐𝑚2  

𝐴 = 𝑙2 − (𝑙 − 2𝑒)2 ⇒ 𝑙𝑚𝑖𝑛 = 3 𝑐𝑚 (𝐴 = 8,00 𝑐𝑚2) ; 𝑒 = 1 𝑐𝑚 

 

 

 

 

 


